PI.	ΔNT	FNTFR	PRISES	PRODI	CTION

Number of Yield per Total Units of Gross Farm						Gross Farm
Crop	Producers	Acres	Acre	Production		Value
FORESTRY						
Pulpwood						
Pine				39,403	cords	
Hardwood				26,728	cords	
Pulpwood (Total)				66,131		
Chip & Saw				22,467	cords	
Saw Timber						
Pine				6,374,159	board feet	
Hardwood				4,913,141	board feet	
Saw Timber (Total)				11,287,300		
Total Pulpwood, Chip & Saw, Saw Timber FOB Mill						\$11,669,691
Total Forestry Stumpage						\$6,323,216
Forestry (Total)						\$11,669,691
FRUITS						
Blueberries	*	10.0	1,400.00	14,000	lbs.	\$17,500
Mayhaws						
Orchard	*	3.0	150.00	450	lbs.	\$563
Mayhaws (Total)		3.0				\$563
Muscadines	*	15.0	5.00	75	tons	\$22,500
Fruits (Total)		28.0				\$40,563
FEED GRAINS						
Corn	7	1,250.0	90.00	112,500	bu.	\$257,625
Feed Grains (Total) GREENHOUSE VEGETABLE	ES	1,250.0				\$257,625
Tomatoes	*	9,000.0	5.00 Yield/sq.	ft. 45,000	lbs.	\$60,750
Greenhouse Vegetables (Total) HAY FOR SALE		9,000.0	•	ŕ		\$60,750

PLANT ENTERPRISES PRODUC	CTION
--------------------------	-------

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
HAY FOR SALE						
Grass	60	10,000.0	5.00	50,000	tons	\$2,500,000
Hay for Sale (Total)	00	10,000.0	2.00	20,000	tons	\$2,500,000
HOME GARDENS	3,000	10,000.0				\$900,000
SOD PRODUCTION	*	150.0			acre	\$531,900
SOYBEANS	*	440.0	35.00	15,400		\$102,410
SWEET POTATOES				,		4-0-,
Canning				1,925		\$3,850
Fresh				3,575		\$64,350
Sweet Potatoes (Total)	*	25.0	220.00		bu. (50 lbs.)	\$68,200
WHEAT	*	500.0	40.00	20,000	` /	\$64,400
TOTAL ALL PLANT ENT	ERPRISES			,		\$16,195,539

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
FUR ANIMALS			12	pelts	\$64
ALLIGATORS (WILD)			82	ft.	\$1,815
HUNTING LEASES	140	120,000 No. Acres		acre	\$1,200,000
		Leased			
TOTAL ALL FISHERIES &	& WILDLIFE ENTERPRISES				\$1,201,879

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value

CATTLE & CALVES

ANIMAL ENTERPRISES PRODUCTION

	ANIMA	<u>AL ENTERPRISES PRODUCTI</u>	<u>ON</u>		
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			1,830	head	\$664,967
400-500 lbs.			2,287	head	\$955,977
500-600 lbs.			2,745	head	\$1,261,245
600-700 lbs.			2,287	head	\$1,189,240
Steer Calves (Total)					\$4,071,430
Heifer Calves					
300-400 lbs.			1,055	head	\$337,716
400-500 lbs.			2,110	head	\$795,396
500-600 lbs.			2,813	head	\$1,198,113
600-700 lbs.			1,055	head	\$514,313
Heifer Calves (Total)					\$2,845,538
Yearling Cattle					
700-800 lbs.			110	head	\$61,875
Yearling Cattle (Total)					\$61,875
Cow-Calf Pairs			200	pair	\$144,000
Cull Cows			1,950	head	\$643,939
Cull Bulls			60	head	\$43,830
Cattle & Calves (Total)	195	19,500 No. Cows			\$7,810,611
DAIRY					
Dairy Cows					
Milk	*	428 No. Adult Cows	6,905,280	pounds	\$896,996
Cull Cows			107	head	\$51,962
Bull Calves			235	head	\$6,463
Dairy Cows (Total)					\$955,420
Dairy (Total)					\$955,420
HORSES					

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
HORSES					_
Brood Mares					
Show Horses	12	75 No. Brood Mares	60	head	\$180,000
Brood Mares (Total)					\$180,000
Stud Fees					
Show Horses		10 No. Stallions	75	mares bred	\$112,500
Stud Fees (Total)					\$112,500
Show Horses	25		75	head	\$300,000
Recreation Horses	500		1,350	head	\$1,350,000
Horses (Total)					\$1,942,500
SWINE					
Show Pigs			200	head	\$60,000
Feeder Pigs			600	head	\$10,800
Slaughter Hogs			2,200	head	\$271,700
Culls			30	head	\$3,300
Swine (Total)	*	170 No. Sows			\$345,800
TOTAL ALL ANIMAL E	ENTERPRISES				\$11,054,331
EAST FELICIANA P.	ARISH TOTAL				\$28,451,749